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(I T wez-Hwr - 30, 3w -02)
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1.

T Afufshar wt R Y o3 arced 22 39 TEE w4 2

What is meant by rate of a chemical reaction? What is its unit?

faguqd == €2 faa wd s w1 g fafaw)

What are alloys? Write the composition of Brass and Bronze.
THEE grEEee td | feris w1 aRfia )

Define chemical equilibrium and equilibrium constant.

FrFd gt 3R ashar fen & oftg Ha R aenfud St

Define relation between focal length and radius of curvature.

fafere wfadry =t gaIfad i o1 R PHA-DA | € 7

What are the factors influencing specific resistance?

PN dfy gM@Is F1 IW@Ifan fafae |

Write the applications of PN junction diode.

11. g TR § TR Fe-F & ¥ 2

What are the functions of blood in human body?

14, Wi ¥ wfS @@ F1 fEET w8 e § 2

How minerals are transported in plants?
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W -2

912 18 21
10° 257357 30 ' TEUH WHNEd® (W.H.) F@ Hifwg| (2]

Find Highest Common Factor (HCF) of 9 12 18 21

10°25°35” 40
b o
2. Ak Z=025 ¢ @ 24 b .2 1 HF 1A HITST | [2]

a 2a+b 9

2a-b 2
+=.
2a+b 9

b
If -; =0.25, then find the value of

3, AEx=23ky=-3% q 2w+ 1o aw B 2]

X+

2 3
If x =2 and y = -3, then find the value of & T e A
X+ y

4. 3 &, 7 G%hg 3T 2 iclt Ael arelt 2t 9 5 e e e o wifaedl

FId i | (2]
Find the probability of drawing 5 white balls from a basket having

3 red, 7 white and 2 blue balls.

5. A, BTN C U HM & wAW: 4 T, 5 77 qon 10 fe o worma = wahat
§ | ofe A firees 39 @ H H, @ o T F wa S g 2]
A can do a work in 4 days, B in 5 days and C in 10 days. Find the time
taken by A, B and C to do the work together.

6. 3w nfm ga—Tafaem & & H, 98 x 96 3R W< IW FI Wirg sietich
g H | 2]
Solve 98 x 96 using Vedic Mathematics Sutra—Nikhilam and check the
answer by Bijank.

CT-04



[4] |
-3 |
1. angaﬁRAMW%?v ¢ 4a]

What is RAM in computers? v

2. w%ﬁvﬁwaﬁ%wmmﬁmmwmm%l 2]
Write the names of any four fields of communication in which computer is
used.

3. I RN ¥ o w gwmy ¥ (2]

What do you understand by information technology?

5. Tiuda Ruaed & o v stfufnedl % sro sa= B 2 399 =m |
forfam | 2]
What are the reactions due to which energy is released in nuelear reactors? |

Write name only.

6. 37-Tog W wew-faz waw it gl vy 2]

Define in-situ and ex-situ conservation.

7. YRaad & fH=l 9R Sg-vrifas &= & 9w fafau) (2]

Write the names of any four bio-geographical regions of India.

8. ScT YWYl & R B il Teh SNy Sfd q91 U WeSien wf e I
39 WS & W fafan) 2]

Write the names of a bacterial and a protozoan disease caused due to

water pollution. Also write the names of their causal organisms.

9, wﬁ%ﬁaﬁﬁmaﬁ%ﬁwmwwﬁ%wm|

Write the names of any four important hot spots of biodiversity of India.
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4.

12,

15

16.

WWW%?W@WWW@-@W
3| uEEl # e Ygw F A 0@ e ?

What are synthetic detergents? Give one example each of cationic and

anionic detergents. Why detergents are considered better than soaps?

freiifiea fas & fag 4 oiv fag B & <9 @1 7o Wiy 910 ST
Find the equivalent resistance between point A and point B in the following

figure :
8 Q

VA

8 Q

T ¥ A @ % g S HH-hH §E?

What are the major components of human digestive system?

YRGS FT & 2 39 WhRA % HE S 1§ 2

What is photosynthesis? What are the main steps of this process?

Fim aeff yore @ oy @ e ¢ 2 FEW auf u & fafu= aeifa
SR § fafEu)

What do you understand by Artificial Vegetative Reproduction? Write

down about various techniques of Artificial Vegetative Reproduction.
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(4]

(4]

[4]

[4]

CT-04



[6]

n
. Wm%sogﬁﬁfﬁzaﬂ%ﬁAaﬁzdﬁmwmgw
] Bﬁ@Wﬁzmﬁsﬁ%mﬁﬁlmﬁ%Bmﬁwﬁzﬁm

foge G99 H A 60 9B fiiz waqr 3

A can print 30 pages of a document in 2 hours and B takes 5 minutes to print 3

page. How many pages B wil] print in the time 4 prints 60 pages?

8. m%mﬁﬁ:&nﬁzmaﬁﬁzsmﬁmﬁaﬁtmw
ﬁmﬁﬁwﬂaﬁwﬂmaﬂﬁﬁa‘éwﬁﬂzmﬁ%lmaﬁnﬁfm

I |

Bhavya rows a distance of 2 km down the stream in 25 minutes and he

takes 35 minutes to cover the same distance upstream. Find the speed of

the Stream.

9, mu%ﬁﬁmwmwmwaﬁa@ﬁmﬂmsom
%,ﬁmagaﬁ?%?ﬁﬂagaﬁéwmaﬁﬁ%ﬁqa@ﬁﬁﬁqﬁa

ﬁwﬁm%ﬁﬁwwmmﬁg@n [4#
Rishabh was facing the Zoo initially. He turned through 135° clockwise,

where is he facing now? Then he turns in anticlockwise direction to face

the Garden, what angle did he turn through?

N
NE
NwW Park
Garden Book Store
W Airport Rishabh Zoo E
Bus Stand Railway
SW s SE

S
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WP - 3
4. vz § ROM T %2 vl for wam &1 acqea () it 82 ¥901 o

10.

11.

12.

13.

1 HEc Bl @ 2
What is ROM in computers? What type of memory does it contain? What

is its importance?

yraed ¥ fagd ST W g =R g S 99 & 9 fafae

Write the names of four electricity-generating nuclear power plants

(4]

of India.

Ja-fafaudr F 9 oA ¥ 7 =N gu T2 fEd &3 w1 Sa-fafaudr
Id i 81 & fau @ weefan (vrevg) $H-%F 9 82

What do you mean by hot spots of biodiversity? What are the two criteria

[4]

for any area to be a hot spot of biodiversity?

TG 3TF W& 31ERvg § =R fafan (4]

Write the differences between National Park and Sanctuary.

CNG &1 § ? 39% He I AU | [4]
What is CNG? Explain its importance.

Qug -3
Section-3
( 3T & yreE-HHr- 100, 34 - 08 )

HIT- 1

-

1\__

Yeretar 71 ¥ 2 firrre aifwees, C,H MgBr &1 ST % gu wefis,
fofo wd qtae Qewrelal & fmin & TaEte sfufwead fad (8]
What are alcohols? Write chemical reactions for the preparation of

Primary, secondary and tertiary alcohols using Grignard’s reagent,

C2H5MgBr.
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10, ser-foga ¥ fE SeR He

(8]
o prifafy F1 SR F/ &2 wwey,

How photoelectric effect is the basis
Draw the structure of Solar Cell.

for working of Solar Cell? Explaip_

13, e TR Y Ay ) e e qen g 9 S w1 PR i

a7 1 A 9 e @ H wefua €7 .
Draw the structure of spinal cord of human body and l.abel its ;najor
components. How human nervous system is related to spinal cord?

IT-2
lo.lﬂ'-n&ﬁ%i45,ooowﬁémmé?@aqaﬂmaﬂvﬂﬁb‘mlsmma

11.

Z 60,000 F Tt ¥ Wy s 39 AWK WK T I 6 TH F
a1 g T 90,000 I Y & Wiy 3§ SR H WEER oF TN T F 39
H 16,500 & o9 ¥ & g% ! fehaa faen?

Minakshi started a business investing ¥ 45,000. After 3 months, Anil
joined her with a capital of ¥ 60,000 and after another 6 months, Sunil
joined them with a capital of ¥ 90,000. At the end of the year, they made
a profit of ¥ 16,500, Find the share of each.

600 fr.Tt. =t g & 99 Wfq &t 24, it nfa & 29 T STUaN 3 e #H
g Adt ® 1 3fg o vfa 1 29 @ fq 9 29 =t vfa w1 e 10 feAy
Y21 U &, O T <A I A F@ SIS

A fast train takes 3 hours less than a slow train for a journey of 600 km.

If the speed of the slow train is 10 km/hr less than that of the fast train,
then find the speeds of two trains.

-3

15.

14. Ardta YEHU 1 € ? THF FRU, YNE UF TEET ¥ 39 w5 qoiq S

What is thermal pollution? Describe its reasons, effects and control
measures.

H-THEATR 4 & ? Tt qeiie w) wema @ sad fe #
gfsha 1 THSmEY |

What is photochemical smog? Explain its system of formation with the
help of chemical equations,




e, e, §

(9]

16, da-fafea # & ? S Fafaan, st fafav v wifafes
5 gfenfia i (8]

What is biodiversity? Define genetic diversity, species diversity and
ecological diversity.
@ us-4
Section-4
(39T & yreg-wiwr - 125, 3w -10)

(39 @US ® uMT-2 | Hor 2 W9 AAA/OR & w0 | fgu 7
3reell Ay TN | g 1 ST AT )

T - 2
12. feu U UE-=E UE €T @ W I FIWT o A9 ey 7T geAl % SW

gifaIg [10]

Study the following pie-chart and bar diagram, and answer the following

questions :

6 wheil o faenfeli =1 wfawa 1 faaio, 6000 faenfeidi # | v T H B

Fo faamedt = 6000 foenfeiai =t dem
Percentage-wise distribution of students in 6 Number of boys in each school out of

different schools, Total number of students = 6000 6000 students

1400 —-
1300 ==
1200 = = = === === mm e meeeeeaaoooo

School E TT m::
gE ook N~ ’/
g ’
. 3 iﬁ?,::::_%__y % %
\ SchoolC--—-) ; 3 8
T —
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(i)

(iii)

(iv)

(39 @US § WIT-1 Td 3 | UIER §o1 4 U9 39a/OR & w4 § fgu 7w §)

-1

What is the sum of the number of girls in School C, the number of
girls in School E and the number of boys in School D together?

@C%wﬁaﬂa‘fﬁﬁ@r,wBﬁmmﬁﬁaﬁm
@WE%%ﬁmféﬁﬁmwmm%?

What is the ratio of the number of boys in School C, the number
of girls in School B and the total number of students in School E?

WF%@WMﬁW@WE%g@WMﬁ@@T
&1 3R fomaar 22

What is the difference between the total number of students in
School F and the number of boys in School E?

T E &I ufeen foenfddl 1 den feg wa % o faenfd
&A1 & FUe § 7
In which school the total number of students is equal to the number

of girls in School E?

Queg-§
Section-5

( TR it yreE-9imr- 175, 3iF-15)

angefl & WMT-1 33 ® | 1-1 &1 39X 0 far ¥1)

17. wWadd & a9 = gfwfug ifse) fad 9% gde 9 wads fed 9uaa

gag 9 Wadd 9 &4 fy= €2 fo fufeal 4 foeg yar & <du =1 swam

fn smom ? S A wRw wfea gfe wifw
(@) HR W&

(b) fe ama &1 wwu-gwa gdu

(c) et ®R %1 te-ame

S
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th : '
E?eﬁne £ 40 of Reflection. How reflection from curved surface is
different from reflection from the plane surface? Which type of mirror

i1l be 1 : '
will used in the following  situations? Support your answer Wwith
reasons :

(a) Solar furnace

(b) Rear-view mirror of vehicle
(c) Headlight of car

HYAT/OR
gellor Tl 1 1 3 e A HHLARY :
(@) ad GRON § o
(b) dcl Wt siifaw srereen
(c) TR afer woedt
(d) forega-omeshar
(e) iTRedre Aifireni =1 fmio
Discuss Halogen elements with reference to the following :
(@) Position in periodic table
(b) Physical state of elements

(¢) Electron gain enthalpy

(d) Electronegativity

(¢) Formation of interhalogen compounds

-3

. s g e, 3 e gt § @ § 9 yelad B et Afori § aftga
v 22 v aoft =1 T forget 3¢ FHEEC [15]
In how many categories, threatened species are classified in Red List of

LU.C.N.? Write the name of each category and explain them.
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HYar/OR

39 e YT = R 2 Ay afire yeA ¥ IR aw TR ac
1 gquiF HifaT |

What is solid waste management? Describe the object and functional

elements of the solid waste management.
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